AD906A Assembly Guide

Before Assembling:

1. Please check the accessory list before assembly. Contact your local
dealer if you find any parts missing.

2. Please read through the assembly guide.

Accessory Package

(1)M3x5 Screw *1pc @

P/N: 13MISW00005M11 [for M.2 NGFF SSD]
(2)M3 Nut *1pc

P/N: 13MINU00002M1 1 @  [forM.2NGFF SSD]
(3)Copper Nut/H: 1.45mm *1pc & [for M.2 NGFF SSD]
P/N: 13MICA00001MO05

v

picture 1 picture 2 picture 3

Step 1: Put copper nut on the same side of the NGFF connector;
and fix M3x5mm screw from bottom to top of the adapter(picture 1).

Step 2:Insert M.2 NGFF SSD into M.2 67pin socket.Press down M.2 NGFF
SSD and aim to the copper nut hole.(picture 2)

Step 3: Using M3 nuts to fix M.2 NGFF SSDon the adapter (picture 3),
namely complete the installation.




AD906A % % &7 B4

EREE:
1. EEREUTHIRGEE mEED, FHEE MRS,
2. FRERERERSA.

HEEH
(1)M3x3 4% *1pc
P/N: 13MISW00010M11 @ [t M.2(2280)SSD]
(2)M3x0 Wik " 1pc @ [t M.2NGFF SSD]

P/N: 13MISW00005M11

(3)M3 218 *1pc m
P/N: 13MINU00002M11 e [6% M.2 NGFF SSD]

SB1EEASEAERNEEF B4 ESSDHNRENEE A, £ AM3X5R 44
HEEFRSPE LHEEEEARETWE )

FER 2:M.2 NGFF SSD i A 678 ##35 7.3 TM.2 NGFF SSD fSSD
REEFERKPELRGSEEACHEWE ).

SER3: £ MIRIEEEM.2 NGFF SSDRE#E < E(INE =),
BERRERER.




AD906A % % i% BB

HEETT
1.EHEREUTHIIRGEFE MBED, EHRALMAHER.
2 IERIERERIBIRAA.

AEREH

(1)M3x3 #242 *1pc
P/N: 13MISW00010M11 L [ M.2 (2280) SSD]

(2)M3x5 8222 *1pc
P/N: 13MISWO00005M11 @ [t M.2NGFF SSD]

(3)M3 #18 *1pc
P/N:13MINU00002M11 Q [t M.2 NGFF SSD]

\/

PR LIS SRR THEF LESESSDHKERME EFL I 1EAM3X518 44
HEERREBE LBERE R RAEE-)

IR 2:18M.2 NGFF SSD 6 A\ 67%t iE#% 2% .42 ™M.2 NGFF SSD {SSD
S5EERENKTEHEEEFHAMLIFED).

IR 3: A M3 IEE EM.2 NGFF SSDF ## R E(WME =),
B SR R 22 T




	頁面 1
	頁面 2
	頁面 3

